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5 (a) In the triangle abc, | ab | = 7 m, | bc | = 8 m and ∠ =abc 42o.
Calculate the area of the triangle, correct to one place of
decimals.

(b) The diagram shows a vertical pole which stands on
level ground.
A cable joins the top of the pole to a point on the
ground which is 50 m from the base of the pole.
The cable makes an angle of 66 25o ′  with the
ground.
(i) Find the height of the pole, correct to the

nearest metre.

(ii) Find the length of the cable, correct to the
nearest metre.

(c) (i) In the diagram, the triangle zxy is right-angled.
| zx | = 8 m and | zy | = 15 m.
Find | xy |.

(ii) xp is parallel to zy.
| xp | = | xy |, as shown.
Calculate | py |, correct to the nearest metre.

ANSWERS

5 (a) 18.7 m2

(b) (i) 115 m (ii) 125 m
(c) (i) 17 m (ii) 8 m

8 m

7 m

42
o

a

b c

50 m

66 25'
o

Pole
Cable

15 m

x 8 m z

y

p

(© Tony Kelly & Kieran Mills)


